" Vs, sy
MPH A EL e BERFY mef[h%4a$»§$%%
A y
T e Greamr | SEPE | w0
ERIR E 0 3t G55 1p|%-& | P

(D) GRS R (A B, C D B E 5T F1 o HER SRS I HE TR
(2) i RUHIRHRIAS (R 1 = AN s =) » (3) T i P IR ~

AR EHE A R R Do TR H250 > B4 T - [F 100 53)

1. Which one of the following terms is a subset of observations selected from the population? (A) probability (B)
sample (C) descriptive statistics (D) inferential statistics (E) parameter
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4. For a sample of data, n=5, x;~xs= 2, 4, 4, 5, 7.  Which one is true? (A)sample mean=4.4, median=4, mode =4
(B) sample mean=4, median=4, mode =4 (C)sample mean=4.4, median=4.5, mode =4 (D)sample mean=4.4,
median=4.5, mode =7 (E)sample mean=4.4, median=4.4, mode =4.4
5. For a sample of data, n=5, x;~Xs = 2, 4, 4, 5, 7. Which one is true? (A)Range=5, sample variance=2.64
(B)Range=5, sample variance=3.3 (C)Range=7, sample variance=2.64 (D)Range=7, sample variance=3.3
(E)None of the above

6. BB XY [I035 4 BSR4 2

Y 1 2 3
1 r 0 0.1
2 0.4 2r 0
3 0 r r

(A)r=1 (B)X,Y £l (C) P(1<X+Y<4)=0.6 (D) P(X=1|Y=1)=0.2 (E)P(Y=1|X=1)=0.2
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9. During one stage in the manufacture of integrated circuit chips, a coating must be applied. If 70% of chips

10.

11. If the probability density function of a random variable is f(x)={

receive a thick enough coating, then what is the probability that exactly 10 among 15 chips will have thick
enough coating?
(A)0.207 (B)0.278 (C)0.485 (D) 0.703 (E) 0.999
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(A)0.04 (B)0.053 (C)0.032 (D)0.168 (E)0.032
kx,0<x<1

_, then the probability that the
0, otherwise

random variable takes on a value greater than 0.5 is
(A)0.125 (B)0.25 (C)0.5 (D)0.75 (E)0.875
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12. A random variable has a normal distribution with mean 16 and variance 1.5625, than the probability that it will

13.

take on value greater than 17 is
(A)0.1841 (B)0.2119 (C)0.7881 (D) 0.8159 (E) 0.8944
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14. A random sample of 10 observations is taken from a normal distribution having the variance 42.5, the

approximate probability of obtaining a sample standard deviation between 3.14 and 8.938 is?
(A)0.89 (B)0.94 (C)0.95 (D)0.965 (E)0.99

15. Which of the following statements is false?

(A) If the parent population is normal and n is large then the standardized sample mean follows the normal
distribution.

(B) If the parent population is normal and n is small and &*is known then the standardized sample mean
follows the normal distribution.

(C) If the parent population is not normal and n is large then the standardized sample mean follows the normal
distribution.

(D) If the parent population is not normal and N is large then the standardized sample mean follows the normal
distribution.

(E) None of the above.
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(A)49 (B)77 (C)86 (D)97 (E)101
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[For questions 21-23] The linear regression equationEy = « + gxwas used to fit the data listed in Table 1. Based on

the statistics calculated from the observed data, answer questions 21 to 23.
Tablel Observed data

X 159 (160 |160 (160 (161 |162 |163 |163 |164 |169 (170 (175
y |166 |166 |166 |168 |169 (169 (169 (170 |171 |171 |171 |172

Observed statistics:

12 12 12
X=163.83, ) x/=322366; y=169,) y’=342782; > xy; =332351.

i=1 i=1 i=1
21. The least squares estimate of g is about

(A) 0.969 (B)1.063 (C)0.367 (D)3.601 (E)6.099
22. The least squares estimate of « is about
(A)91 (B)97 (C)101 (D)105 (E)109

23. The degree of freedom of the t statistic for testing the hypothesis H,: =0 is
(A8 (B)9 (C)10 (D)11 (BE)12

[For questions 24-25] Eighteen overweight individuals were randomly assigned to one of three diets. After two
months, the total weight losses (in pounds) of the individuals on each of the diets were listed in Table 2.
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Table 2
Weight loss
Diet 1 Diet 2 Diet 3

22 25 28

23 26 29

24 27 30

25 28 31

26 29 32

27 30 33

The null hypothesis to be tested is that the mean effects of the three diets are the same. Based on the given data,
answer questions 24 to 25.
24. The error sum of squares in the ANOVA table is
(A)175 (B)35 (C)525 (D)35 (E)26.25
25. The degree of freedom for the error sum of squares is
(A)15 (B)16 (C)17 (D)3 (BE)2




